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Part I: Multiple-Choice Questions: Select the best answer for each of the following questions (3 points for
each question) (75 points)

1. The auditor is normally not permitted to divulge confidential information obtained from a client. Which of
the following  situations would be a violation of this standard?

a. To respond to the information request of a major shareholder.
b. To respond to a quality review request of the state board of accountancy.
c. To initiate a complaint with the AICPA’s ethics division.

d. To ensure adequate disclosure in accordance with GAAP.

2. Directional testing is important to an auditor because of which of the following factors?
a. Certain accounts are more prone to be misstated by overstatement than others.
b. The auditor must remain organized when conducting an audit.

c. The primary concern of the auditor is the understatement of asset and revenue

accounts.

d. It tests for existence and completeness simultaneously.

3. Which of the following is not an inherent risk typically associated with debt covenant compliance issues?
a. Whether debt covenants are calculated accurately.

b. Whether debt payment transactions are properly initiated.
c. Whether compliance with debt covenants is appropriately disclosed.

d. Whether compliance with debt covenants is appropriately reviewed.

4. Which of the following is not a circumstance indicating potential impairment of intangible assets?
a. A change in circumstances, such as the legal environment or business
climate, that could affect the asset’s value.

b. An accumulation of costs that are significantly in excess of the amount
originally expected to be needed to acquire or construct the asset.

c. The asset generates just as much cash flow as in the past.

d. Losses or projections indicating continuing losses associated with an asset
used to generate revenue.

5. Which of the following is the primary assertion related to testing inventory on hand to see if it includes

consignment goods?

O
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a. Existence.

b. Completeness.

c. Valuation.

d. Rights and Obligations.

6. Which of the following is not true of the concepts that are embodied in the COSO framework of internal

controls?

a. Internal controls relate to the organization’s objectives.

b. The six components of internal control are logically and operationally intertwini
¢. Internal controls apply across all activities of the organization.

d. All of the above are true.

7. If materiality judgments change during the audit opinion formulation process, what happens to previous
audit decisions that were based on the evidence obtained using the initial materiality setting?
a. The auditor reassesses those previous decisions.
b. The auditor repeats all audit procedures performed prior to the change in
materiality judgments.
¢. The auditor modifies the audit opinion to note the change in materiality
judgements.

d. No action is required.

8. External documentation may lack reliability. Which of the following is the most probable reason for that?
a. The external party may be competent in performing duties.
b. The documentation may be properly understood by the client in the response.
c. The auditor may decide not to use the documentation and replace it with
other documents.

' d. The documentation may have been altered if the process is not controlled
from inception.

9. The discovery of an intentional misstatement, even if immaterial, could impact the auditor’s opinion on
the effectiveness of which of the following?
a. The client’s external controls.
b. The client’s interim financial statements.

¢. The client’s internal controls over financial reporting.
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d. The client’s segment reports.

10. Which of the following is not a question an auditor considers in deciding whether to pursue a lower
control risk approach prior to substantive testing?

a. Is the design of the control effective?
b. Does the control promote operational efficiency?
c. Is it cost effective to test controls?

d. Are controls operating effectively?

11. When an auditor issues an adverse opinion, which of the following should be included in the opinion
paragraph?
a. The financial statement effects of the departure from GAAP.

b. A statement that indicates that the financial statements are fairly stated
except for a reason that is described in the separate paragraph.

c. A reference to a separate paragraph that describes the reason for the
adverse opinion.

d. The reasons that the financial statements are misleading.

12. The auditor will do which of the following when the results of sample testing conclude that there is
misstatement in excess of the tolerable misstatement?
a. Issue a disclaimer of opinion.
b. Throw out the sample.
¢. Propose adjustments to the client.

d. Disclose the misstatemnent in the client's financial statements.

13. Which statement is correct?
a. Assertions affected by highly objective estimates usually require direct
tests of balances.
b. The materiality of the account totally dictates the substantive procedures to
be performed.
¢. The evidence the auditor obtains from risk assessment procedures does not
influence the substantive procedures to be performed.

d. The extent and results of control tests performed by the auditor will
influence the substantive procedures to be performed.
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14, Protection Transparency, Inc. is being audited by Messer and Bromely, LLP. During the assessment of
fraud, Messer and Bromely discover that the controller has been creating fictional sales and posting them
to the general ledger. Who should the auditors make aware of this issue?

a. The chairman of Protection Transparency’s audit committee.
b. The local police.
c. Protection Transparency's legal counsel.

d. The predecessor auditor of Protection Transparency.

15. Which of the following best represents fraud related to financial reporting?

a. The transfer agent issues 40,000 shares of the company's stock to a friend
without authorization by the board of directors.

b. The controller of the company decreases warranty expense by $3 million
because the company will otherwise miss analysts' expectations this
quarter.

¢. The in-house attorney receives payments from the French government for
negotiating the development of a new plant in Paris.

d. The accounts receivable clerk covers up the theft of cash receipts by
writing off older receivables without authorization.

16. Sam Jones, controller of Mitnikco, spends three days researching the accounting standards to find
loapholes in the "rules" and to make a case for recognizing revenue earlier, rather than in Jater years. In
the end, Sam and the other members of management determine that they will reduce the company's
deferred revenue accounts and begin accounting for all revenues as agreements are signed. Based solely
on the preceding information, which element of fraud is represented by the actions of Mitnikco
management?

a. Pressures.
b. Opportunity.
c. Rationalization.

d. Skepticism.

17. A control designed to ensure that no employee is paid for more than 80 hours of sick pay is an example of
which type of control?
a. Entity-wide control.
b. Processing control.

c. Qutput conirol.
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18.

19.

20.

Z1.

22,

d. Input control.

During the testing of a year-end bank reconciliation, an auditor noticed that the majority of checks listed
as outstanding at year-end did not clear the bank until the middle of the subsequent month. Which of the
following is a likely explanation?

a. A high probability of kiting.

b. A high probability of lapping.

¢. The year-end cash disbursements records had been closed prior to year-end.

d. Checks were issued before year-end but not mailed until the subsequent period.

A jury has determined that Jason Pruitt, CPA, is 20% at fault for losses suffered by investors who relied
on materially misstated financial statements. The jury found that Pruitt’s co-defendants, the client
company and the company’s CEO, are each 40% at fault. The company is bankrupt, and only Pruitt and
the CEO have adequate resources to pay damages. Under joint and several liability, what is the likely
percentage of damages that Pruitt will pay?

a. 20%.

b. 20% plus a proportionate share of damages attributed to the company.

c. 20% plus 50% of damages attributed to the company.

d. 100% of damages.

‘When performing attributes sampling, which of the following varies directly with the sample size?
a. The expected failure rate.

b. The tolerable failure rate.

c. The risk of overreliance.

d. The nonsampling risk.

What is the purpose of an ethical framework?
a. To provide a defined methodology to solve the ethical problem.

b. To provide a defined methodology to aid the user in making complex
ethical decisions.

¢. To provide a defined program fo solve ethical dilemmas.
d. All of the above.

Which of the following would meet the need for additional control procedures when using computer-

generated purchase orders?
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a. Establishment of maximum quantity limits that can be ordered within a
given time period.

b. Automated acceptance for high dollar levels.

¢. Purchase order copies sent by purchasing to recejving.

d. Accounts payable department entering new vendors into the system.

23. Which one of the following subsequent events will least likely result in an adjustment to the financial
statements?
a. Material change in the amount of settlement of a lawsuit which had been
estimated at year end.

b. Bankruptcy of a customer who owes your client a material amount on open
account at year end for which there is an inadequate allowance estimate.

¢. Sale of a large block of inventory at a price materially below carrying value.

d. Signing of a letter-of-intent by the client to acquire 55% of another entity for
stock.

24, Which of the following approaches for determining fair value of Level 3 assets is used by the auditor?
a. Determining appropriate model and sensitivity of model.
b. Reviewing contracts to determine if loss is other than temporary.
¢. Performing an analysis of volume of trading activity.

d. Performing an analysis of trades on similar assets.

25. Which of the following is not a characteristic of quality audit documentation?
a. Clear communication as to how testing was performed, the results of
testing, and conclusions.

b. Organization and assembly of documentation in an orderly fashion.

c. Headings that include the name and signature of the client representative
that the auditor interacted with while performing testing.

d. Authenticated identification of the person responsible for completing the
procedure and conclusions.
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PART II: Problems and Analysis
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